



Vendor Ranking

Letting: 05260203 February 03, 2026 2:00 PM **Call Order:** 001 **Contract:** E54D6-R0
District: District 5 **Counties:** MARION **Fed Aid No:** N/A
Contract Time: 365 CALENDAR DAYS **Project(s):** 42795817231 (*)
Contract Desc: Tree Trimming & Removal

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	CLEAR ZONE MAINTENANCE, INC.	Responsive	Winning bid	\$229,750.00	100.00%
2	WD GARDNER LLC	Responsive	Non-Winning Bid	\$234,400.00	102.02%
3	COLLINS LAND SERVICES, LLC	Responsive	Non-Winning Bid	\$236,350.00	102.87%
4	SUPREME ROOFING & CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$311,890.27	135.75%
5	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$516,140.00	224.65%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Letting: 05260203 February 03, 2026 **Call Order:** 001 **Contract:** E54D6-R0
District: District 5 **Counties:** MARION **Fed Aid No:** N/A
Contract Time: 365 CALENDAR DAYS **Project(s):** 42795817231 (*)
Contract Descr: Tree Trimming & Removal

FDOT District 5
 Proposal ID No: E54D6
 Financial Project No: 427958-1-72-31
 Fiscal Year: 2026
 Counties: Marion
 Calendar Days: 365

This is a Maintenance Work Document driven Contract with a budget estimate of \$300,000.00. The Contract will be awarded at the budget estimate amount. This Contract includes an option for renewal(s).

THERE WILL BE A MANDATORY PRE-BID MEETING FOR THIS PROJECT AT 2:00 PM EST ON TUESDAY, DECEMBER 16, 2025, AT THE FLORIDA DEPARTMENT OF TRANSPORTATION, DISTRICT OFFICE, 719 SOUTH WOODLAND BLVD., DELAND, FL 32720.

PROPOSALS (BIDDING DOCUMENTS) WILL BE ISSUED ONLY TO THE PROSPECTIVE BIDDERS WHO HAVE ATTENDED THE PRE-BID MEETING. PROSPECTIVE BIDDERS ORDERING BIDDING DOCUMENTS PRIOR TO THE PRE-BID MEETING WILL BE GIVEN ACCESS TO DOWNLOAD THE BIDDING DOCUMENTS WITHIN 24 HOURS AFTER THE PRE-BID MEETING. THOSE PROSPECTIVE BIDDERS ORDERING THE DOCUMENTS AFTER THE PRE-BID MEETING WILL NEED TO CONTACT THE DISTRICT 5 CONTRACTS ADMINISTRATION OFFICE TO CONFIRM ATTENDANCE AND RECEIVE ACCESS TO DOWNLOAD THE BIDDING DOCUMENTS. PLEASE CONTACT THE OFFICE AT LEAST TWO WORKING DAYS PRIOR TO THE DEADLINE FOR OBTAINING BIDDING DOCUMENTS TO ALLOW TIME FOR PROCESSING.

Intent:

The work under this Contract consists of tree trimming & removal, power shearing, and ditch clearing of large vegetation on Department maintained roadways on an as-needed basis.

Note:

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) CLEAR ZONE MAINTENANCE, INC.		(2) WD GARDNER LLC		(3) COLLINS LAND SERVICES, LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount



Tabulation of Bids

Letting: 05260203 February 03, 2026

Call Order: 001

Contract: E54D6-R0

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) CLEAR ZONE MAINTENANCE, INC.		(2) WD GARDNER LLC		(3) COLLINS LAND SERVICES, LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TREE TRIMMING AND REMOVAL (MH								
0005 0120 9 1 DITCH CLEARING OF LARGE VEGETATION, DITCH WIDTH UP TO 15'		2,400.000 LF	4.00000	9,600.00	2.00000	4,800.00	8.00000	19,200.00
0010 0120 9 2 DITCH CLEARING OF LARGE VEGETATION, DITCH WIDTH 15-30'		1,900.000 LF	8.00000	15,200.00	4.00000	7,600.00	13.00000	24,700.00
0015 0120 9 3 DITCH CLEARING OF LARGE VEGETATION, DITCH WIDTH GREATER THAN 30'		1,900.000 LF	13.00000	24,700.00	10.00000	19,000.00	18.00000	34,200.00
0020 0570 1 2 PERFORMANCE TURF, SOD		1,600.000 SY	4.00000	6,400.00	8.00000	12,800.00	5.00000	8,000.00
0025 E580332 21 TREE REMOVAL (4" TO 12")		25.000 EA	265.00000	6,625.00	180.00000	4,500.00	100.00000	2,500.00
0030 E580332 22 TREE REMOVAL (13" TO 24")		10.000 EA	515.00000	5,150.00	400.00000	4,000.00	200.00000	2,000.00
0035 E580332 23 TREE REMOVAL (25" TO 36")		5.000 EA	1,100.00000	5,500.00	500.00000	2,500.00	300.00000	1,500.00
0040 E580332 24 TREE REMOVAL (37" TO 48")		4.000 EA	1,700.00000	6,800.00	700.00000	2,800.00	400.00000	1,600.00



Tabulation of Bids

Letting: 05260203 February 03, 2026

Call Order: 001

Contract: E54D6-R0

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) CLEAR ZONE MAINTENANCE, INC.		(2) WD GARDNER LLC		(3) COLLINS LAND SERVICES, LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TREE TRIMMING AND REMOVAL (MH								
0045 E580332 25 TREE REMOVAL (> 48")		6.000 EA	3,000.00000	18,000.00	1,000.00000	6,000.00	500.00000	3,000.00
0050 E580332 99 TREE AND BRUSH REMOVAL		35.000 AC	595.00000	20,825.00	1,200.00000	42,000.00	1,300.00000	45,500.00
0055 E580333 1 STUMP REMOVAL (4" TO 24")		5.000 EA	600.00000	3,000.00	100.00000	500.00	50.00000	250.00
0060 E580333 2 STUMP REMOVAL (25" TO 48")		5.000 EA	800.00000	4,000.00	150.00000	750.00	100.00000	500.00
0065 E580333 3 STUMP REMOVAL (> 48")		2.000 EA	1,350.00000	2,700.00	200.00000	400.00	200.00000	400.00
0070 E580336 PRUNING AND TRIMMING (LESS THAN 4")		75.000 EA	45.00000	3,375.00	50.00000	3,750.00	50.00000	3,750.00
0075 E580336 1 PRUNING AND TRIMMING (4" TO 24")		75.000 EA	115.00000	8,625.00	300.00000	22,500.00	100.00000	7,500.00
0080 E580336 2 PRUNING AND TRIMMING (> 24")		75.000 EA	250.00000	18,750.00	400.00000	30,000.00	150.00000	11,250.00
0085 E580336 4 PRUNING AND TRIMMING (TREES AND SHRUBS)		47.000 PM	1,500.00000	70,500.00	1,500.00000	70,500.00	1,500.00000	70,500.00



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 001 Contract: E54D6-R0

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) CLEAR ZONE MAINTENANCE, INC.		(2) WD GARDNER LLC		(3) COLLINS LAND SERVICES, LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TREE TRIMMING AND REMOVAL (MH								
0001 TREE TRIMMING AND REMOVAL (MH)								
Section Totals:				\$229,750.00		\$234,400.00		\$236,350.00
Contract Grand Totals:				\$229,750.00		\$234,400.00		236,350.00



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 001 Contract: E54D6-R0

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) SUPREME ROOFING & CONSTRUCTION, INC.		(5) SUPERIOR LANDSCAPING & LAWN SE			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TREE TRIMMING AND REMOVAL (MH								
0005 0120 9 1 DITCH CLEARING OF LARGE VEGETATION, DITCH WIDTH UP TO 15'		2,400.000 LF	10.00000	24,000.00	16.00000	38,400.00		
0010 0120 9 2 DITCH CLEARING OF LARGE VEGETATION, DITCH WIDTH 15-30'		1,900.000 LF	20.00000	38,000.00	18.80000	35,720.00		
0015 0120 9 3 DITCH CLEARING OF LARGE VEGETATION, DITCH WIDTH GREATER THAN 30'		1,900.000 LF	30.00000	57,000.00	19.80000	37,620.00		
0020 0570 1 2 PERFORMANCE TURF, SOD		1,600.000 SY	8.00000	12,800.00	11.44000	18,304.00		
0025 E580332 21 TREE REMOVAL (4" TO 12")		25.000 EA	187.50000	4,687.50	440.00000	11,000.00		
0030 E580332 22 TREE REMOVAL (13" TO 24")		10.000 EA	390.00000	3,900.00	800.00000	8,000.00		
0035 E580332 23 TREE REMOVAL (25" TO 36")		5.000 EA	550.00000	2,750.00	800.00000	4,000.00		
0040 E580332 24 TREE REMOVAL (37" TO 48")		4.000 EA	775.00000	3,100.00	880.00000	3,520.00		



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 001 Contract: E54D6-R0

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) SUPREME ROOFING & CONSTRUCTION, INC.		(5) SUPERIOR LANDSCAPING & LAWN SE			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TREE TRIMMING AND REMOVAL (MH								
0045 E580332 25 TREE REMOVAL (> 48")		6.000 EA	1,416.67000	8,500.02	2,800.00000	16,800.00		
0050 E580332 99 TREE AND BRUSH REMOVAL		35.000 AC	1,675.00000	58,625.00	4,900.00000	171,500.00		
0055 E580333 1 STUMP REMOVAL (4" TO 24")		5.000 EA	400.00000	2,000.00	488.00000	2,440.00		
0060 E580333 2 STUMP REMOVAL (25" TO 48")		5.000 EA	800.00000	4,000.00	688.00000	3,440.00		
0065 E580333 3 STUMP REMOVAL (> 48")		2.000 EA	800.00000	1,600.00	688.00000	1,376.00		
0070 E580336 PRUNING AND TRIMMING (LESS THAN 4")		75.000 EA	37.67000	2,825.25	144.00000	10,800.00		
0075 E580336 1 PRUNING AND TRIMMING (4" TO 24")		75.000 EA	92.50000	6,937.50	188.00000	14,100.00		
0080 E580336 2 PRUNING AND TRIMMING (> 24")		75.000 EA	161.00000	12,075.00	188.00000	14,100.00		
0085 E580336 4 PRUNING AND TRIMMING (TREES AND SHRUBS)		47.000 PM	1,470.00000	69,090.00	2,660.00000	125,020.00		



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 001 Contract: E54D6-R0

Line No / Item ID Item Description <i>() indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(4) SUPREME ROOFING & CONSTRUCTION, INC.		(5) SUPERIOR LANDSCAPING & LAWN SE			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0001 (TREE TRIMMING AND REMOVAL (MH
0001 TREE TRIMMING AND Section Totals: \$311,890.27 \$516,140.00
REMOVAL (MH)

Contract Grand Totals:	\$311,890.27	\$516,140.00
------------------------	--------------	--------------



Tabulation of Bids

Letting: 05260203 February 03, 2026 **Call Order:** 001 **Contract:** E54D6-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.